
Φυσική Γ´κατεύθυνσης

ΣΤΕΡΕΟ ΣΩΜΑ
Μεταφορική(ευθύγραμμη για υλικό σημ.)   Στροφική(κυκλική για υλικό σημ.)
1.  dχ                                                                  1.  dθ
                                                     
2.  υcm=dχ/dt                                                      2.  ω=dθ/dt

3.  αcm=dυcm/dt                                                  3.  αγ=dω/dt

    υ=υ0 ± α∙t              υ= α χυ 20
2 ±                    ω=ω0 ± αγ∙t         ω= θαω γο 22 ±

    χ=υ0∙t ± 1/2∙α∙t2     χ=(υ2-υ0
2)/2α                      θ=ω0∙t ± 1/2∙αγ∙t2   θ=(ω2-ω0

2)/2αγ

                       επιβρ: χ=(υ0
2-υ2)/2α                                         επιβρ: θ=(ω0

2- ω2)/2αγ

4.  M=m1+m2+…                                               4.  I=m1∙r1
2+m∙r2

2+…

5.  p=m∙υ                                                            5.   L=p∙r=m∙υ∙r=m∙r2∙ω

6.  p=M∙υcm                                                        6.  L=I∙ω

7.  K=1/2∙M∙υcm
2                                               7.   Κ=1/2∙Ι∙ω2

8.  F                                                                     8.  τ=F∙d

9.  ΣF=M ∙αcm=Μ∙dυcm/dt=dp/dt                      9.  Στ=Ι∙αγ=I∙dω/dt=dL/dt 

10.  dW=F∙dχ                                                      10. dW=F∙ds=F∙R∙dθ=τ∙dθ

11. P=dW/dt=F∙υ                                              11. P=dW/dt=τ∙ω

           Α.Δ.Ορμής                                                              Α.Δ.Στροφορμής
ΣFεξ=0↔pολ(αρχ)=pολ(τελ)                                     Στεξ=0↔Lολ(αρχ)=Lολ(τελ)↔I1ω1=I2ω2

ΘΜΚ  E  
ΣW=ΔΚ=Κτελ-Καρχ   

ΑΔΜΕ
Καρχ+Uαρχ=Κτελ+Uτελ

Κύλισις
                                                       dχ =     ds        = R∙dθ 
                                                       υcm= υγραμμική   = R ·ω
                                                       αcm= αεπιτρόχιος = R ∙αγ 
                                                       Α.Ομαλή κίνηση:
                                                                        ΣFχ = 0
                                                                        ΣFψ = 0
                                                                        Στ   = 0
                                                       Β.Ομαλά μεταβαλλόμενη κίνηση:
                                                                         ΣFχ=Μ∙αcm

                                                                                                                              ΣFψ=0
                                                                         Στ=Ι∙αγ

Ν.Χρόνης                                                                             59ο Γενικό Λύκειο Αθηνών
                                                                                        


